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(@e.g.) Stationary AR(1) with MDS error term:
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Note that this estimator is biased but consistent:
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Estimator of the variance of the error term:
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(Theorem) A CLT for ergodic stationary martingale difference(MDS )25
Let {X,} be a vector MDS sequence that is stationary and ergodic

with E(X,X,”) = 2 {co. Then
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(Exercise) Show
(i) {y,_,&,} is a stationary MDS

() E(yi—1&) =0

(i) E(yi_&f) = oiPliM%Zy?ﬂ = ot/ (1—p") (o

So, by the Theorem and Exercise,
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25) Hayashi, Fumio (2000), Econometrics, Princeton Univ. Press, p.106.
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which is essential for the following result.

Limiting distribution:
Vn(o-0) = (5 Zybn b Dye
L N[0, Pim (%Zy?_l)_l] = N[0, 1-¢"]
Asymptotic distribution:

o A Nlo (1-0%)/n]

Hence, under H,: p =0,
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1.3.4.2 A W 7)< (information criteria)
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Akaike information criterion:
Choose the model with the minimum value of AIC.
AIC = nlog(RSS) + 2k

Bayesian information criterion(Schwartz information criterion):
Choose the one with the minimum value of BIC.

BIC = nlog(RSS) + klog(n)
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1.3.5 The Box-Jenkins Method
FHaoA ARMARHES o=+ HH 02 Box$ Jenkinsel]l 9| 3lo] Ajotw HH.
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